C	ALEXANDRIA 202		022/2023 STREET PROGRAM ALEXANDRIA, KENTUCKY PROJECT: 220271 Bid Date 8/25/2022		ENGINEER'S ESTIMATE		RIEGLER BLACKTOP, INC.		PAUL MICHELS & SONS, INC.		EATON ASPHALT PAVING	
		PART 1 - MEADOWVIEW DR (1,435 FT X 28 FT) & CEDARVIEW DR (1,160 FT X 28 FT)										
ITEM NO.	SPEC. NO.	ITEM	Estimated Quantity	Unit of Measure	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid
1	110	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$3,300.00	\$3,300.00	\$7,200.00	\$7,200.00	\$3,225.00	\$3,225.00
2	112	MAINTENANCE OF TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$9,100.00	\$9,100.00	\$2,700.00	\$2,700.00	\$9,175.00	\$9,175.00
3	408	ASPHALT MILLING (MILL TO CONCRETE SURFACE [2-1/2" AVG])	8,450	SY	\$3.50	\$29,575.00	\$3.40	\$28,730.00	\$5.10	\$43,095.00	\$3.75	\$31,687.50
4	402/403	VARIABLE THICKNESS ASPHALT PAVEMENT LEVELING (3/4" AT CURB TO 1-1/4" AT CENTER) (WILLOW)	8,450	SY	\$6.50	\$54,925.00	\$4.50	\$38,025.00	\$5.25	\$44,362.50	\$7.00	\$59,150.00
5	402/403	1" ASPHALT PAVEMENT SURFACE WITH FIBER REINFORCEMENT	8,450	SY	\$8.25	\$69,712.50	\$8.20	\$69,290.00	\$10.25	\$86,612.50	\$8.00	\$67,600.00
6	SPL*	SPOT CURB REPAIR, AS PER PLAN	300	LF	\$60.00	\$18,000.00	\$90.00	\$27,000.00	\$98.00	\$29,400.00	\$77.00	\$23,100.00
7	SPL*	FULL DEPTH PAVEMENT REPAIR, AS PER PLAN	200	SY	\$60.00	\$12,000.00	\$60.00	\$12,000.00	\$97.00	\$19,400.00	\$79.00	\$15,800.00
8	SPL*	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	100	SF	\$15.00	\$1,500.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00	\$23.00	\$2,300.00
9	SPL	ADJUST SANITARY SEWER MANHOLE TO GRADE	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$450.00	\$450.00
10	109*	ADJUSTMENT OF THE KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01 ONLY)				\$11,400.00		\$11,400.00	\$0.00	\$11,400.00		\$11,400.00
		SUBTOTAL - PART 1				\$205,112.50		\$201,345.00		\$246,870.00		\$223,887.50

\bigcirc	ALEXANDRIA 2022		22/2023 STREET PROGRAM ALEXANDRIA, KENTUCKY PROJECT: 220271 Bid Date 8/25/2022		ENGINEER'S ESTIMATE		RIEGLER BLACKTOP, INC.		PAUL MICHELS & SONS, INC.		EATON ASPHALT PAVING	
		PART 2 - TERRACE DR (1,030 FT X 24 FT)										
ITEM NO.	SPEC. NO.	ITEM	Estimated Quantity	Unit of Measure	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid
1	110	MOBILIZATION	1	LS	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00	\$7,200.00	\$7,200.00	\$2,750.00	\$2,750.00
2	112	MAINTENANCE OF TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$7,300.00	\$7,300.00	\$2,100.00	\$2,100.00	\$4,550.00	\$4,550.00
3	408	ASPHALT MILLING (MILL TO CONCRETE SURFACE [2-1/2" AVG])	2,725	SY	\$3.50	\$9,537.50	\$3.40	\$9,265.00	\$5.10	\$13,897.50	\$4.50	\$12,262.50
4		VARIABLE THICKNESS ASPHALT PAVEMENT LEVELING (3/4" AT CURB TO 1-1/4" AT CENTER) (WILLOW)	2,725	SY	\$6.50	\$17,712.50	\$4.50	\$12,262.50	\$5.25	\$14,306.25	\$7.50	\$20,437.50
5	402/403	1" ASPHALT PAVEMENT SURFACE WITH FIBER REINFORCEMENT	2,725	SY	\$8.25	\$22,481.25	\$8.20	\$22,345.00	\$10.25	\$27,931.25	\$8.50	\$23,162.50
6	SPL*	SPOT CURB REPAIR, AS PER PLAN	400	LF	\$60.00	\$24,000.00	\$90.00	\$36,000.00	\$98.00	\$39,200.00	\$77.00	\$30,800.00
7	SPL*	FULL DEPTH PAVEMENT REPAIR, AS PER PLAN	250	SY	\$60.00	\$15,000.00	\$60.00	\$15,000.00	\$97.00	\$24,250.00	\$79.00	\$19,750.00
8	SPL*	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	400	SF	\$15.00	\$6,000.00	\$20.00	\$8,000.00	\$22.00	\$8,800.00	\$23.00	\$9,200.00
9		ADJUSTMENT OF THE KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01 ONLY)				\$3,650.00		\$3,650.00		\$3,650.00		\$3,650.00
		SUBTOTAL - PART 2				\$103,881.25		\$117,822.50		\$141,335.00		\$126,562.50

Image: PART 3 - RIDGEWOOD DR (2,700 FT X 28 FT) Image: Distance of the part of the par	C	ALEXANDRIA 2022/		22/2023 STREET PROGRAM ALEXANDRIA, KENTUCKY PROJECT: 220271 Bid Date 8/25/2022		ENGINE	ENGINEER'S ESTIMATE		RIEGLER BLACKTOP, INC.		PAUL MICHELS & SONS, INC.		EATON ASPHALT PAVING	
No. SPEC. No. ITEM Quantity Measure Total			PART 3 - RIDGEWOOD DR (2,700 FT X 28 FT)											
Image: Constraint of the second sec		SPEC. NO.	ITEM				Total Amount Bid		Total Amount Bid		Total Amount Bid		Total Amount Bid	
Image: Constraint of the second sec	1	110	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$7,200.00	\$7,200.00	\$3,275.00	\$3,275.00	
Image: Constraint of the second sec	2	112	MAINTENANCE OF TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$7,300.00	\$7,300.00	\$2,900.00	\$2,900.00	\$9,175.00	\$9,175.00	
4 402403 AT CENTER) (WILLOW) 9,075 \$37 36.50 358,987,50 \$34,50 \$32,50 \$47,643,75 \$47,043,75 \$47,043,75 \$47,043,75 \$47,043,75 \$57 \$600 \$58,987,50 \$58,00 \$57,415,00 \$10,25 \$93,018.75 \$80.0 \$72,600.00 5 402403 1* ASPHALT PAVEMENT SURFACE WITH FIBER REINFORCEMENT 9,075 \$Y \$8.25 \$74,868.75 \$80.0 \$10,25 \$93,018.75 \$80.0 \$72,600.00 6 SPL* SPOT CURB REPAIR, AS PER PLAN 50 LF \$60.00 \$3,000.00 \$90.00 \$4,500.00 \$98.00 \$4,900.00 \$85.00 \$4,250.00 7 SPL* FULL DEPTH PAVEMENT REPAIR, AS PER PLAN 100 SY \$60.00 \$60.00 \$60.00.0 \$97.00 \$98.00 \$98.00 \$98.00 \$98.00 \$98.00 \$98.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 \$99.00.00 <td< td=""><td>3</td><td>408</td><td>CONCRETE MILLING (BUTT JOINT)</td><td>350</td><td>SY</td><td>\$10.00</td><td>\$3,500.00</td><td>\$24.00</td><td>\$8,400.00</td><td>\$12.00</td><td>\$4,200.00</td><td>\$18.00</td><td>\$6,300.00</td></td<>	3	408	CONCRETE MILLING (BUTT JOINT)	350	SY	\$10.00	\$3,500.00	\$24.00	\$8,400.00	\$12.00	\$4,200.00	\$18.00	\$6,300.00	
Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01) Image: Section of the KY AVERAGE PRICE INDEX	4	402/403		9,075	SY	\$6.50	\$58,987.50	\$4.50	\$40,837.50	\$5.25	\$47,643.75	\$7.00	\$63,525.00	
Image: Constraint of the synthesisting speed rable Image: Constraint of the synthesisting speed rable<	5	402/403	1" ASPHALT PAVEMENT SURFACE WITH FIBER REINFORCEMENT	9,075	SY	\$8.25	\$74,868.75	\$8.20	\$74,415.00	\$10.25	\$93,018.75	\$8.00	\$72,600.00	
And and a set of the	6	SPL*	SPOT CURB REPAIR, AS PER PLAN	50	LF	\$60.00	\$3,000.00	\$90.00	\$4,500.00	\$98.00	\$4,900.00	\$85.00	\$4,250.00	
Image: splet sple	7	SPL*	FULL DEPTH PAVEMENT REPAIR, AS PER PLAN	100	SY	\$60.00	\$6,000.00	\$60.00	\$6,000.00	\$97.00	\$9,700.00	\$98.00	\$9,800.00	
10 109* ADJUSTMENT OF THE KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01 ONLY) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price index for a sphale (109.07.01) Image: Constraint of the ky average price (1	8	SPL	REMOVE EXISTING SPEED TABLE	1	EA	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$950.00	\$950.00	
10 109° 0NLY) \$12,250.00 \$12,250.00 \$12,250.00 \$12,250.00	9	SPL	INSTALL NEW SPEED TABLE	2	EA	\$4,000.00	\$8,000.00	\$6,000.00	\$12,000.00	\$3,900.00	\$7,800.00	\$7,150.00	\$14,300.00	
SUBTOTAL - PART 3 \$174,706.25 \$170,702.50 \$190,412.50 \$196,425.00	10	109*					\$12,250.00		\$12,250.00		\$12,250.00	\$0.00	\$12,250.00	
			SUBTOTAL - PART 3				\$174,706.25		\$170,702.50		\$190,412.50		\$196,425.00	

C	ALEXANDRIA 2022		022/2023 STREET PROGRAM ALEXANDRIA, KENTUCKY PROJECT: 220271 Bid Date 8/25/2022		ENGINEER'S ESTIMATE		RIEGLER BLACKTOP, INC.		PAUL MICHELS & SONS, INC.		EATON ASPHALT PAVING	
		PART 4 - LISA LN (2,410 FT X 28 FT)										
ITEM NO.	SPEC. NO.	ITEM	Estimated Quantity	Unit of Measure	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid
1	110	MOBILIZATION	1	LS	\$5,000.00	\$5,000.00	\$3,300.00	\$3,300.00	\$7,200.00	\$7,200.00	\$3,175.00	\$3,175.00
2	112	MAINTENANCE OF TRAFFIC	1	LS	\$2,500.00	\$2,500.00	\$7,300.00	\$7,300.00	\$2,500.00	\$2,500.00	\$8,750.00	\$8,750.00
3	408	ASPHALT MILLING (MILL TO CONCRETE SURFACE [2-1/2" AVG])	7,525	SY	\$3.50	\$26,337.50	\$3.40	\$25,585.00	\$5.10	\$38,377.50	\$3.00	\$22,575.00
4	402/403	VARIABLE THICKNESS ASPHALT PAVEMENT LEVELING (3/4" AT CURB TO 1-1/4" AT CENTER) (WILLOW)	7,525	SY	\$6.50	\$48,912.50	\$4.50	\$33,862.50	\$5.25	\$39,506.25	\$7.00	\$52,675.00
5	402/403	1" ASPHALT PAVEMENT SURFACE WITH FIBER REINFORCEMENT	7,525	SY	\$8.25	\$62,081.25	\$8.20	\$61,705.00	\$10.25	\$77,131.25	\$8.00	\$60,200.00
6	SPL*	SPOT CURB REPAIR, AS PER PLAN	450	LF	\$60.00	\$27,000.00	\$90.00	\$40,500.00	\$98.00	\$44,100.00	\$77.00	\$34,650.00
7	SPL*	FULL DEPTH PAVEMENT REPAIR, AS PER PLAN	350	SY	\$60.00	\$21,000.00	\$60.00	\$21,000.00	\$97.00	\$33,950.00	\$79.00	\$27,650.00
8	SPL*	6" CONCRETE APRON/DRIVEWAY REPLACEMENT	150	SF	\$15.00	\$2,250.00	\$20.00	\$3,000.00	\$22.00	\$3,300.00	\$23.00	\$3,450.00
9		ADJUSTMENT OF THE KY AVERAGE PRICE INDEX FOR ASPHALT (109.07.01 ONLY)				\$10,000.00		\$10,000.00		\$10,000.00		\$10,000.00
		SUBTOTAL - PART 4				\$205,081.25		\$206,252.50		\$256,065.00		\$223,125.00

C	your trusted advisor consultants	ALEXANDRIA 202	ALEXANDRIA 2022/2023 STREET PROGRAM ALEXANDRIA, KENTUCKY PROJECT: 220271 Bid Date 8/25/2022					RIEGLER BLACKTOP, INC.		PAUL MICHELS & SONS, INC.		SPHALT PAVING
ITEM NO.	SPEC. NO.	ALTERNATE A: ADA CURB RAMPS	Estimated Quantity	Unit of Measure	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid	Unit Cost Total	Total Amount Bid
1	505/SPL	REMOVE EXISTING CURB RAMP AND REPLACE WITH NEW ADA CURB RAMP	65	EA	\$1,250.00	\$81,250.00	\$2,200.00	\$143,000.00	\$2,400.00	\$156,000.00	\$2,100.00	\$136,500.00
		SUBTOTAL - ALTERNATE A				\$81,250.00		\$143,000.00		\$156,000.00		\$136,500.00

ALEXAND			2/2023 STREET PR ALEXANDRIA, KE PROJEC1 Bid Date 8	ENTUCKY T: 220271	ENGINEER'S ESTIMATE	RIEGLER BLACKTOP, INC.	PAUL MICHELS & SONS, INC.	EATON ASPHALT PAVING
		BID SUMMARY						
ITEM NO.	SPEC. NO.	ITEM			BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT
		SUBTOTAL - PART 1			\$205,112.50	\$201,345.00	\$246,870.00	\$223,887.50
		SUBTOTAL - PART 2			\$103,881.25	\$117,822.50	\$141,335.00	\$126,562.50
		SUBTOTAL - PART 3			\$174,706.25	\$170,702.50	\$190,412.50	\$196,425.00
		SUBOTAL - PART 4			\$205,081.25	\$206,252.50	\$256,065.00	\$223,125.00
		TOTAL BASE BID			\$688,781.25	\$696,122.50	\$834,682.50	\$770,000.00
		ALTERNATE A			\$81,250.00	\$143,000.00	\$156,000.00	\$136,500.00